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ENVIRONMENTAL ENGINEERING-I

Paper : CE 404
Full Marks : 100
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer any five questions.

1. (a) Draw schematic layout of a typical
Water treatment plant of a town. S

(b)) Why the population forecast is
necessary in the design of public water
supply scheme ? Discuss in brief
various methods employed for the
purpose and their comparative merits
and demerits. 15

Contd.



‘pPuop €

9 *9xejul padiowgns
siduurs urejdxs Apjorrg ‘saxejur jo sadAy
SNOLIBA JjelowWInNUF '2INJONIIS Iejul
Ue JO UOIBI0[ 9} UI2A08 YoIym SI0j0ej
snorrea 2yl ure[dxs ‘oxejuy auljag

9

000°T9 0v61

00S‘¥S 0€61

0S0°Lb 0Z61

00S‘T+ 0161

001‘bE 0061

00S°LZ 0681

000°SZ 0881
uonyendog Ieax

'av 000z Ted4

a3 I0j 510 & jo uoneindod ay] ‘poylowr
9SEOIOUI [BJUSWAIOUT 2} Aq 9jeWnS?
‘eyep Suimofioj a3 jo djRy 3yl yIMm

8 “eore uejrjodonop B 03
panddns a2q 03 1aj3em jo Ainuenb [ejol
93} JB 2ALLIE PINOM NOA moy 3jeloqe[d

e ‘puewap ejided tod ay)
Sunoape si0joe] 2y} ure[dxy ¢ puewap
ejdeo 1ad ayy 9jeWINS? NOA [[IM MOH

D/NANA ($OY FD) €S

()

(@

(v)

()

C D/NANJ ($0¥ D) €S

o ‘Koeded
U2AI8 ¥ JO JIOAI9SAI B WOIJ P[ATX
‘9yes 9y} aurnuIalep 03} moy urerdxy

01 ‘[[oM urew 3y} Ul UMOPMEID
oyl aurwIalap Os|y (1) ¢ Idjinbe
ue jo Auqissnusuen Yy} st 1eym (Y

WIT'T ST UMOpMBID

oy} Aeme w(Og [[oM B Ul pue wWeg'Q

Aq paI1amo] SI WO 1B [[oM 3189] B Ul
[2A9] Iayem oy} dnuru/sani 00vS @
gurdwind jo sinoy $g 191y "9[qel Jojem
onels oY) Mmo[eq wgy sojenauad [[om
Iojouwrerp woOg v ‘I9jinbe paupguooun
ue yym [[om e ur Aqesawrad jo
UOIJBUTULIS)IP J0] UOIssaIdxa we 2ALI9(Jg

‘uoneunoy) Jodng (1)

uoneulo[y) jutodsearg (Y

o1
: 89ssa001d Summoroj ay3 Apanq ureidxy

01 ,.mmuoﬁ ur 1ayem Surua}jos
Jo ssaoo0xd 231[09Z 2qLIOSI( ‘Idjem
Buru2}Jos Jo spoylow 224y} Aubp UOUIN

(@

(v)

(@

(v)

0C 'sorddns 19jem mel Jo uoneururexs
reorwayo pue reorsAyd ayy ‘Apgerq urerdxy



6. (a) Write notes on any three of the
following : 15

(i) Deep and Shallow tube well

(ii) Tube well screen

(iii) Aquifer and aquiclude

(iv) Permeability and transmissibility.

(b) From a clear water reservoir 3m deep
and maximum water level at 30.00,
water is to be pumped to an elevated
reservoir at 75.00 at the constant rate
of 0.25m3/sec. The distance is 1500m.
Give the economical diameter of the
rising main and water horsepower of
the pump. Neglect minor losses and
take f = 0.01. 5
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